EAGRAROBREERT — 2 N— IBISH —F

202178128 (A) 2mEEER2H

Il C2 H5R— B R
[KE4£] 1 #%&:270,000  ~ 23#&:95,000MH  3#&:54,000”  43#&:27,000M 5 7#&:14,000 M
WEBR MK HE BF (&) 24 L (&%) | @BBIBf | £3F |SIEH | AR | AE | R FIRB) / BE / £EHRS
S5 e AT :00. - 8| — IIMKEE (KIR)
TFUZRLI TR M7 s 1(0_0)7 2-2 35.8 1 (5_039) PN
LG4 7 T—IWEY BNX—VUFILLT TR "HET77— L4
RV E S =l i 4 ;ZJB%’ 1(:10/02.)8 1-1 36.1| — 3 | 416 ﬁ%g% (FKR)
Q:xXF Bikyh(Laa5 2| insEE s
N 4 4 | EBRE 1:01.3 2-3 36.3| — 5 481 | EREEE (B%RE)
t’l/j'?;/./\— o 54.0 3) (-q) |BEAISRT
XL JARZ N B:T7T140F> HET7—L
by Fo=F by b 7 ﬁﬁﬁk 1:(031).8 5-4 3.2 — 4 471 ﬁ%gi (#R)
XY 4TRHLE N BTHAFILALR L I
> 6 | WA 1:02.0 4-5 36.7| — 2 457 | AR GKR)
XNTAYRT 57.0 (1 1/4) o AR
RZAZXHT R B:TVEINRY v 77 NG
. 4 4 | BOB— 1:02.4 6-6 36.7| — 6 433 | TEEXR (KiR)
TA/VA L 5.0 2 1/2) Ca |EHEE
LN—E>Tv— B:UFTILT AN S
® 1 —F—@EBIERL
13—7-—
20—F—
== 5,(2,6),3,1,4
40—+ — 5,6,2,1,3,4
[ N5
B 6 1704 714K 5-6 230M B E 5-6 350 RPEL:] 2-5-6 810
B B 6 130M 2-6 330M B H 6-5 550M 3EE 6-5-2 2,340M
5 190M 2-5 5001

ARICOVWTRDTEEERROODE. TR LIV,




